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¢ If the train arrives late and there are no taxis at the
station, then John is late for his meeting.

¢ John is not late for his meeting.
¢ The train did arrive late.
¢ Therefore, there were taxis at the station.

If P and not Q, then R. NotR. P. Therefore, Q.
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¢ If Pand not Q, then R. NotR. P. Therefore, Q. A%
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16

—r v FETE DL (completeness)

e ELWY—4 Y MITRTEBATEEMN ?
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o BEDREMN L, LDI—47 2 MIT N TIEBARAE
T, TNODMLTOI—7 2 bHHRTED




17

Wang @7 I)L31) X Ls

o U=V FOIEARIE—FT (KOE) hoEmZF(C
ot <.
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BAHDT, MAROESEHER. 1E2LHR.
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FEHRRANEZRTHEINADLIZENTED) .
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FIZHIEL TR IHIE, T RXTOELSREMI(E initial
sequent [CEET HET.
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Alt]. T - A kA, Af]
wAXD.TEA O TEA wwap)

Ala], T - A TE A AlL]
HAXD.TEA O Tra axap) o

s tIFEREDIE
e ald T A ITENKGLEH (eigenvariable)
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I'-A, A[a]

T A, YxA[X]) Oofist)

* ald T % A ICHN%UVES] (eigenvariable)

p(A) F p(A)
pA) - VX)) o
IXPX) - VX))
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p(1) + p(2)
vXEOO) ) o)
VX(p(X)) + IX(P(X))

P(A) I p(A), q(A) q(A) = p(A), q(A)
VX(P(X)) F p(A), d(A)  VX(a(X)) F p(A), a(A)
VX(p(X)) v VX(q(X)) = p(A), q(A)
VX(p(X)) v VX((X)) F p(A) v q(A)

VX(p(X)) v VX(a(X)) = VX(p(X) v q(X))

(VE)

(vE)
(vA)
(VA)
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P(0), p(s(0)) + p(s(0)), p(s(s(0))) (B -+ 5788)
P(0), p(s(0)). p(s(0))=p(s(s(0))) = p(s(s(0)))
(=3 5788)  p(0), p(s(0)), VX(p(X)=p(s(X))) = p(s(s(0)))
P(0), p(0)=p(s(0)), YX(p(X)=p(s(X))) = p(s(s(0)))
P(0), VX(p(X)=p(s(X))), YX(p(X)=p(s(X))) - p(s(s(0)))
P(0), VX(p(X)=p(s(X))) = p(s(s(0)))
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